Ratio Analysis through Net Worth Statements
Scenario 1:

	Current Assets: $ 40,000
	Current Liabilities: $ 25,000

	Intermediate Assets: $110,000
	Intermediate Liabilities: $90,000

	Long Term Assets: $ 500,000
	Long-term Liabilities: $400,000

	Total Assets:  $_________________
	Total Liabilities: $_______________

	
	Net Worth: $__________

	
	Current Ratio: ____________

	
	Intermediate Ratio: ______________

	
	Net Capital Ratio: _____________

	
	Debt to equity ratio:  _____________


Scenario 2:

	Current Assets: $ 4,000
	Current Liabilities: $ 2,500

	Intermediate Assets: $5100
	Intermediate Liabilities: $2000

	Long Term Assets: $ 50,000
	Long-term Liabilities: $10,000

	Total Assets:  $_________________
	Total Liabilities: $_______________

	
	Net Worth: $__________

	
	Current Ratio: ____________

	
	Intermediate Ratio: ______________

	
	Net Capital Ratio: _____________

	
	Debt to equity ratio:  _____________


Scenario 3:

	Current Assets: $ 4,000
	Current Liabilities: $ 5,000

	Intermediate Assets: $17,000
	Intermediate Liabilities: $25,000

	Long Term Assets: $ 0
	Long-term Liabilities: $0

	Total Assets:  $_________________
	Total Liabilities: $_______________

	
	Net Worth: $__________

	
	Current Ratio: ____________

	
	Intermediate Ratio: ______________

	
	Net Capital Ratio: _____________

	
	Debt to equity ratio:  _____________


Scenario 4:

	Current Assets: $ 14,400
	Current Liabilities: $ 12,184

	Intermediate Assets: $25,123
	Intermediate Liabilities: $18,560

	Long Term Assets: $ 75,000
	Long-term Liabilities: $63,583

	Total Assets:  $_________________
	Total Liabilities: $_______________

	
	Net Worth: $__________

	
	Current Ratio: ____________

	
	Intermediate Ratio: ______________

	
	Net Capital Ratio: _____________

	
	Debt to equity ratio:  _____________


